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[2.0 Marks]
b} Explain “Heeling” and “Trinuming” of a vessel
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What are the
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a
ship can be written as;

R = pv?L?

ov2L2 [f1(-2) + f (2

[2.0 Marks]

f, and f; are functions of Reynolds’ number, and Froude number, respectively.
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A geometrically similar model of 7 m long ruining at POTEQmﬂdmg speed, gave a

Define the term “Quasi-Propulsive Coefficient(QPC)”

[1.0 Mark]
Write short notes on following Propulso:

i, Controllal

ii.  Pump jets
i1, Vertical axis propeller
tv.  Water jet propulsion
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Indicate following propell

,wm

er features on a diagram and define them

1. Propeller Diameter and Boss
1. Skew and Rake
1. Leading edge and Tailing Edge
iv.  Blade outline and Developed outline

[2.0 Marks]

Considering the general case of a simple actuator dlSQ mlpaftmg momentum to water.
Show that the efficiency of the disc as a propulsor i

F ffici _ pAVE(1+a)b S
iciency = pAVI[(1+a)ab+(1+a)b] i+a

Where a is axial inflow factor and b is velocity factor at infinity behind the disk, V,
is speed of advanced screw, A is disc Area, p is fluid density and take b= 2a.

[5.0 Marks]
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